1D pull distribution

+0.1159

0.0163

Mean

+0.08197

0.9054

Std Dev

Underflow

Overflow

8.668/6

X2 / ndf

12.26 +2.22

Constant

0.08838 + 0.14443

Mean

0.9206 + 0.1156

Sigma

18-

10
8
6
4
2
OIII

50.02 /60 hH

713.5

X2 / ndf

119.1

+

pO

Adet (ppb)




Adet RMS (ppm)

(wdd) sy

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
[Aa=1474
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

X2 / ndf

(ppb)

corr_Adet_evMonO

@ @ o o ~ ~ @ @
<] ] ~ S 3 3
B 3 5 © ] S
=] =] > N =] =]
S H =] 5 + + —
+H < i ©o ©o -
0 ') a 5 ~
Q2 S 3 S i
& & 3 <
3 ° s S —]
g i
5 i
z = i
.8 0§ & s §E . . A
§ = 2 g - 5 § 5 ]
= ] 5 [} < [} = » -
= 1 ]
L | R | L 1 .
[Te] o 1) o [S)
3 3 - =
[ —_—r
nd
o - — e ——
©m
- N g
— b4
& “
+l L
L0 —————
M
[o2 M\
N o
(o] d
—_— e —
I -
@
Py
@
° e
4
@
o 3
(o} —_—
Py
L 4
10
—
Py
L 4
°
L 4
Py
L g
OF
Py
@
Py
L4
°
L4
o °
L 4
°
@
°
L4
Py
L 4
—_——
Py
&
————
°
L g
Py
d
o
°
@
®
L 4
* Py
L4
Py
L 4
Py
L 4
—_———
| | 1I¢I+I+IW”I+I+ITLI+ 111 |

2000




(ppm)

corr_Adet_evMon0 RMS

_____ _________________________________________ﬂ

Lol o Lo o Lo o ol o Lo o
N~ N~ © © Lo Lo < <t o™ ™

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
[Aa=1474
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



(NN NNEANNNREEEE _..I|T_|_.0.TT_|TT__

¥ © o o o N~ 9 @
3 R I <~ g 3
L g 0% 3 3
§ 3 58 o8 ]
o -
S o ? ]
T -
H = -
wmmwm ©
c|§ ¢ & 3 & z § ¢£E
6l & 5 & % 8 = 3§
5 —
o -
s ]
2 ]
© -
= -
o =]
o
-
PR IS TN TN N TN SN T AN TN TN TN AN N T SO N TN W N | 7
I —
——
o ——
64 —_——
-o ——1—
———
0 ] .
v 4—e—
N~ ——
5% —
—
N~ ——
< ———
|
—_——
— o—
—————
= —
12 e
——
~ —
NP =} ———
mxp ——
[e) —
o —_—
~— ——
—
c
=
>
()
ol
[}
e
<
R
=
o
o

o

2000
1000
1000
2000

4000
3000

3000 —




(ppm)

corr_Adet_evMonl RMS

(wdd) sy

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



&g & ° ° I & g 2
3 8 @ = S
3 S 8 H 1 S
° ° ] 3 < + .
+ + n + Py ]
3 3 = ] d i
g 3 5
=] ! 3 —
? .
> m 3 € -1
o £ o <] s © —
clsg £ 8 ¢ F 8 5 ]
|2 & 5 &8 = 8 2 &
3
b =
= -
=1 -
2 1 —
ho) -
= -
a /rj
(@)
i .
i BRI B | L 1 TN BRI BT AR
e © < o < N o
— — - =1
I
61
~
AN ™M
oM L
™m0
Ln
Lo —_———————
i
L ————
Y—
©
c
=)
N
Si<2a
o
o
~ —_—
—
N
c
=
>
(]
ol
(]
2
r_
=
o
o
——
________T.IT_IT_..l_IT_IT_L__
o o o o o
o o o o
o o o o
[¢°) © < N




(ppm)

corr_Adet_evMon2 RMS

o
<
N

o
™
N

o
N
[Q\

o
—
[Q\

o
o
[Q\

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
[Aa=1474
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



g 5 ° ° I 3 2 &
g 8 s = & 9
=] (=] ~ © =] =}
ﬂ H © = + H .
© @ m
2 S s o —
1 ! B
(=] -
H = -
8 2 m k=1 m © —
c g S 3§ ] S 2 g E i
ol & 5 &8 = &8 2 & B
E=
3
b —
.m T b
7 a
2 _|_4 —
> | ]
= =
o
(@) i
- -
v e b by by by by v by by g by 7
© © < N o © © < N o
— — — — —
I —]
04 —_—— —
O —
AN —
%+_|0|. .
Te) _]
N~ .
™ .
N —
| —_———— —]
u— .
© -]
c —
/0 —]
~ —]
al<a -
el —]
o ]
~ —
™ .
< -
m .
S 1
(] —_———1 —
| ———— —
Lnl-m — —]
—_— —
o —_—— —
< R S .
l — — -
— —————i —
o — o —
o —— —
—_——— —
—— —
—_— —
—_——— —
—_———— —
— —
—_——————— —
—_— e ]
e . —— —
@ — H
R — -
—_— —
Ll d b L
o o o o o o o o o
o o o o o o (= o
$ 8 ] S = 8 8 3




(ppm)

corr_Adet_evMon3 RMS

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



0 @ o o < o o ~
] 2 N S 8 >
2 3 Q N | I3
S =3 8 # o S
° ° ~ & + + -
+ + o < o 1
o ® ~ =t 2]
- ]
8 = ? ° -
(=} -
> m 3 € -1
o £ o <] s © —
c m c S T £ 2 m E i
o s B 5 S %« 8 2 & E
=
=}
m -
=] I .
Rl [ -
ko] [ | -
— 1
S ]
o
(@)
i -
b by b b by by by by b b by by
N o © © < o~ =) 0 < o~ [S)
~ 39 - — — — =
[
o
© ®
-~ ™M
— ©
™~
(21T
AN N
Lo
<t
|
—
Y—
©
c
=)
o
al<a
o
o
N—r
<
c
= —
>
(] —
ol
(]
2
r_
.
(@] —_—————i
o
—_——
— —————i
— o—
___T.I.I_IT_.‘I.ITT_I'___ NN
o o o =) o
g & &8 = & B
= =1 | p] —




(ppm)

corr_Adet_evMon4 RMS

o L0
Lo <

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



8 3 ° e ¢ & 8 ]
3 3 @ s g 8
= S 3 HoooS S
o o s ] ~
e} H - 0 +H +H -
© o = 3 2 -1
~ v L ~ © -5
] N = @
m S =] =] =]
s n
> m 3 - € -1
c 3 s 2 E 8 - © —
c|§ = & & = £ § 5 .
(e} = 2] S ¢} =< o = » -1
= m
=}
2
= 1 ]
0 [——— ] ]
© ]
= | E—
S a
o
o i
i =
L MR | T B | NI BT I R
[Te] o [Te) o Te] o
N N i —
I
o m
o m
-~
o m
M+_
mn 9
™
™
(9
|
Y—
©
c
Y=
N
o> 2
o
o
N—r
Lo
c
=
>
(]
ol
(]
©
A_
S
.
o
o
—
——
——

100




(ppm)

corr_Adet_evMon5 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
T 6VTY
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

(wdd) sny



@ [Te} o o had [ < -

3 ! 2 e 3 b

Q 3 2 ~ 8 8

S 3 3 + S S ©
o S 3 o] S H .

+ + S o + 5 .

= g 2 3 2 7

g 3 8 S

] ] IS i
¢ ¢ ]

i £ % 5 3 .
c|lg 8 & 5 2 & § E =
5

sl &8 5 & %« 8 = 3§ -
= ]
> — «~
0 -
5 ]
g = L
= "
u -
2 -«
o m
— ]
7
—¢
L 1 L L | MR B M T R P
o [Te) o [Te] o n o
[32) ~N N i —
I —
[@ (] P ]
O N ® —
-o ® —
o ]
3 + -
- 1 ]
N < 7]
(e 0] ls- ]
N~ L —
. . m
o Py ]
5 e -
c ° 1
- o ]
o @ —
o< o —
o L —
o — ]
~— @ —
2 < -
o ° .
= by -
> ® —
) ]
o p -
[} hd ]
2 . .
r_ —_—— —
S p—
(@] ° |
(&) ° —]
— _]
-»- -
@ —
@- -
® — e ZEVTY
_ ® _ _I EETRETERS 417
L1111 _ TTTT_ITTTI | 111 |+_._:7_:_._:_._:_.__:._:_._.ﬁo‘mv?
o o o o [=} o O O NON T O
3 =1 | m % ccoc ooco



(ppm)

corr_Adet_evMon6 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
® — 2'SSTY
. — T'SSTV

— 0'SSTY

— v'vSTY

— VSTV

— VSTV

— TvSTv

— O'vSTY

— V'ESTY

— €'€STY

— C'ESTY

— T'esty

— 0'€STY

— G'¢STY

— v'¢STy

— €7¢STy

— ¢'¢STy

— T'¢STy

— 0°2¢STY

— V16TV

— €'1I6TY

— ¢'IGTY

— T'TSTV

— 0'ISTY

— 7'0ST¥

— €'0ST¥

— 2°0ST¥

— T'0STv

— 0051V

) E6VTY
— 2'6vIv
— T6VTv

— 0'6vIV
— €81y
— 28Iy
e 1414

— 0'8vIv
— ¢'Sviv
e 1414

— 0'SvIv
— EVYIY
— ¢y
— Tvviv

— Ovviv
— CEVIY
— TEVTy

|| g oeriv

=
NENE FEENE ENE T AN faw
L ™ . N . o
™ [V} —

(wdd) siny



1D pull distribution

2 o o o © Q 2 s
B 8 3 pd 3 S
4 g 3 A 2 o
s S e H [} o
= ‘ =] =
+ < < & =) H E
8 ~ o] # % .
2 S5 ) 1
o K o =23 -
8 & g 2
S S 2 —]
B S
S E
T .
z = -
> Kl z = g
3 < 8 5 8 @ —
g ] 8 T < ] g £
g g 3 = 2 &
3 ] 2 s S S i} =]
= [ =) o < O = »
| | | | | | T I N W T A W T W
[ee] © < N o o] © < N o
— = — — —

47.42 160 R

4.643

X2 / ndf

16.8

+

pO

(ppb)

corr_Adet_evMon7




(ppm)

corr_Adet_evMon7 RMS

(@] [ee]
N —

(wdd) sny

(]
—

<
—

N
—l

o
—

[e0]

©

<

N

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

+0.06812

—0.007414

Mean

+0.04817
3.686/4

243 +4.4
0.0326 +0.0716

0.5321

Std Dev
Underflow
Overflow
X2 / ndf
Constant
Mean

0.5022 + 0.0624

Sigma

|

17.27 /60 R

312

X2 / ndf

251

+6

=2

pO

(ppb)

corr_Adet_evMon8




(ppm)

corr_Adet_evMon8 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
pT SSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv

0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

[ee] N~ (o] Lo < ™

(wdd) sny



corr_Adet_evMon9

______________
o [=)

o o o o

[} Yo} [Te) o 0
- | - -
| |

5 8§ ° ° o g § g
2 g 2 o g S
3 S 9 + 3 +
S S b ) S 2
+ + 2 S i B
g R ]
g 5 2
e 8 -
? ]
s _ ]
. B f & oz B ¢ —
cl§s ¢ & 3 < & § & 7
o | = g 5 3 « 8 £ 3 E
2 ]
>
m —
= f ]
2 _ — —
S : . E
E T
o
o .
- ]
Lo b b b by b b by b b g b 1y gy
< N o fee] © < ~N o [ce) © < N o
N N N - - - - -
I — 1 —]
O —
o m —
-9 -
0 _
o ]
[o0) —
o —
T} —
N 1
| _
— —
m —e——— —
——eo—— —
< —_— —
~ —— —
P = —_——t
re) ————i —
—— —
Z — e — -
—le—— —
—— —_
——— —
— e —
—t —
——




(ppm)

corr_Adet_evMon9 RMS

_____
© T} < ™ o~ -

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



+0.06626

—0.002637

Mean

+0.04685

0.5175

Std Dev

Underflow

Overflow

4.074/4

X2 / ndf

32.29+5.35

Constant

-0.06219 + 0.05100

Mean

0.3759 + 0.0381

Sigma

1D pull distribution

16.34 /60 H

X2 / ndf

.764

301+ 4

1

pO

(Ppb)

corr_Adet_evMon10




(ppm)

corr_Adet_evMonl10 RMS

[HENEEEN
o] N~ © [Te) <t ™ N —

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

+0.03322

0.004844

Mean

+0.02349

0.2594

Std Dev

Underflow

Overflow

0.1658 /1

X2 / ndf

39.91+6.56

Constant

0.02206 + 0.04213

Mean

0.3249 +0.0330

Sigma

0

4.107 /60 R

3122

X2 [ ndf

5.356

+

-0

p0O

(Ppb)

corr_Adet_evMonl11l

-sop e e e e




(ppm)

corr_Adet_evMonll RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114

Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
T STy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

NENENERE NN
™ 10
N

(wdd) siny
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1D pull distribution

g_evMonl1l (ppb)

corr_us_av

® ® o o < o o o
SO 1 -~ & 5 @
g8 g s g 8
SE 8 w 3 g
S u 8 8§ S 4 —
Ho g s 2 H 5
® o S 8 o o ]
2 8 g g g ]
g g g 3
g 3o g S —
g s 3
z = ]
nmmmmmna .
e £t < @0
§ = T ¢ = £ § 5§ h
= » S5 O % o = o -1
J—
1 | -
P PR I S T TR NN T S S S 1 P R R T B TR R
o n o n o wn o
™ N N - —
I
@
o N ®
O I~ °
- O °
O < d
© +H P
N PO
¥ N d L
1
™ <
) °
o — e
T P
<
°
.
°
S \
c
= P o
~ O —1
< o IS
<
*
<
°
=
*
“ u
<
°
g
*
o
°
o
3
°
-
°
—_——
-
P
-
°
D S S—————
' 2
.
°
<
°
<
°
-
°
-
P
-
°
<
°
e
IS S Ly e - T FERA AN
o o o o o o o o
S 3 I Q nﬂ_ A__. r_O oot NONT ©

>ooc0o n_U.0.0.




g_evMonl1l RMS (ppm)

corr_us_av

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114

Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
T STy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

NENENERE NN
™ 10
N

(wdd) siny



N g ° o ~ = g 8
§ g g < g 8
s 2 5 &1 3 3
+ o 3.A/»N+_ -
os s a ]
g = L ]
g g g g A
S o s ©°
o o =1
- - .
c|l§ ¢ & §8 £ z § ¢&
|l & 5 & %« 8 2 @&
=}
=4 -
m -
5 f .
2 e —
© -
m =
2 —
a
—
MR | PR T N N N ! | TR R T T R
I
o<
© o
-~
© ©
T —
———
3N
—
N
o
I ———
—————
—
o
c
~ O
|
aofx< o
Q| —————
a
p—a
o
=
=
————
—————
P ————
e_
ge]
I
[72]
S
r_
S
9 —————
© ————
—_——
—_——
—
——
—_——
[ —
clnld o Ll
o o [=) [=) =) o o
o o o o o o
o S S > S o
B o ] 3 & i)




(ppm)

corr_us_dd _evMon0O RMS

(wdd) sy

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



corr_us_dd_evMonl (ppb)

X2 / ndf

2000

1500

1000

500

-

-500

1000

1500

2000

pO

64.43 /60
24.3 +61.93

T T

1D pull distribution

Mean 0.003955 + 0.1316
12- Std Dev 1.028 +0.09305
o Underflow
10 | Overflow
X2/ ndf 4569 /7
B Constant 11.87 £1.97
8 — —
- Mean 0.09509 + 0.14536
| Sigma 1.029 +0.113
6 —
=
o
0 L1l | Ll 1 | 111 | 111 | 1 Ll | Ll
-8 -6 -4 -2 0 2 6 8




(ppm)

corr_us_dd _evMonl RMS

Cerrrrerrrrerterrrrrrrrrerrr ettt e et el

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

+0.0875

LA

-0.001857 +0.09831

0.7678 + 0.06951

1.77415

16.79 + 2.88

-0.03456 +0.10133
0.7535

Std Dev
Underflow
Overflow
X2 / ndf
Constant

Mean
Mean
Sigma

|

© < N o [ee] © < N
i - - —

O-III

35.96/60 R
+34.13

17.57

|

X2 I ndf
P

i
1

(ppb)

corr_us_dd_evMon2

800 —



(ppm)

corr_us_dd _evMon2 RMS

ettty

____
© Te}
I3 N

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



it

o o
o

—

o

o

—
]

R e e ° @ Q 8 3
8 g 5 0 & 8
hal 3 - o N IS
ﬂ = ) H w H i
N} H ] @ =y ]
3 & s 3 S 1
@ 2 «© - — —]
mo. s T ]
3 & 5 5 &
s & § t© B2 3 g g
c ] = B g ~ 5 3 i=)
|2 & 5 8 % 8 2 &
= =
5 —1
b =
s m
12} -
g | — - :
= -
o —]
o _]
i
P T T I B R T BH T A TR Lo by 0 1y L
e © < N o o] © < o
— =1 - — =
I
o O —_——
o< T T —de— L
/_LJ..|.|.
—
oJ.+_|.|.
Sw
O
~ ————
(9
|
Y—
©
c
=)
—~|~
Q> 9
Q|
o
~
™
c
=
S
e_
©
2
(%2}
>
r_
=
o
o
—




(ppm)

corr_us_dd _evMon3 RMS

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

1.609/60 hH

X2 / ndf

(ppb)

corr_us_dd_evMon4

= ~ o o o (=] < <
g 3 S & & Z
] S 3 8 Q o
s 9 & ¥ o 9 ]
g g8 2 4 8 :
a2 4 - 8 4 8 ]
S °© S o —_
8 > ]
S T i
> m 3 € -1
c 8 5 2 E g < o —]
§ = £ g - £ § 5 ]
= 7] =) [e] > o = n =1
R
—
. 1 NP BT BT B R B B
n o [Te) o [Te) o wn o
[32) [32) N N — -
1
e
Lo T
< W
—
o
+ o
— L
(e} °
(60) ®
™ y
0_W
il
°
o ®
o @
o
o
°
—*
| P
| A
°
°
°
o
°
LS
°
°
°
®
o
o
®
°
®
°
®
»
°
*®
°
o
°
o
0 "
| 4
-
o
(HERNEN [HENN
o o o o o o o SAONTOONTIOTANM<T
=1 =] o n S D SRR
I = i B < JUOOOOOOOO




(ppm)

corr_us_dd _evMon4 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
pT 2SIy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
pTEVIY
oeriv

(wdd) sny



@ ® o o v v 494 o
s 3 S 2 8 B
-~ o v 4 o
s 9 g #H 5 o
H o9 ~ 38 & o+ .
~ M < # ® I
5 02 D - N a
203 s =
s & s 3 —]
g © 3 ]
s S 7]
z . 7 m
s & 2 =
» T & B 8 © —
c|l§ £ &2 &% £ ¢ § ¢g 1
|2 & 5 &8 = 8 2 & E
= =
=}
2 %
= -
= a
2 B —
ho] i
=) ﬂ
o
(@) n
i .
=
PR TR Y TN WA TN NN TN WO TN SN N TN TN SN T AN T T S Loy
[T} [) 0 o [S)
3V « — —
[
o
oo
- ™
—
0 +H
AN O
< ©
N
N
|
—
©
c
=)
~|
QX< Q
Q.
o
~
o
c
=
>
e_
—
= ——
2 —
(%2}
5
r_
=
o
(&)
——
———
—




(ppm)

corr_us_dd_evMon5 RMS

______________________________________ Ll

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
pEESTY
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

w1 ™ 1. N 1.
<t ™ N — o

(wdd) siny



1D pull distribution

+0.08218

0.001707

Mean

0.6418 +0.05811

Std Dev

297714
18.99 +3.63
+0.0951

-0.04113 +0.10012
0.6549

Underflow
Overflow
X2 / ndf
Constant
Mean
Sigma

12

o
—

[ee]

©

4
2
0

25.13/60 hH

X2 / ndf

937 + 12.95

4

p0

(ppb)

corr_us_dd_evMon6




(ppm)

corr_us_dd _evMon6 RMS

___________________. ______ ______________ﬂ

— o o e} ~ © To) <t ™
— —

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

(ppb)

corr_us_dd_evMon7

o @ ° ° o o @ w0
2 8 ©
IS 3 @ < g g
5 8 M 2
S S b o S <
+ + o © S b -
< @ a + 2 .
~ o @ o
N 5 3 8 m
8 3 2 2
S S 3 —
S 8 i
, ¢
2 _ m
3 2 3 s & . A
s S & 3§ E gz ¢ ¢ E
H 3 5 8 % & 2 & m
1 =
] ) ]
b by by by b b b by v by by by g by a7
N <) @ © < N =) E) © < ~ o
N N — - — - -
[ @
[@Ne))
O Nf——
- ™M
N~
M+_
N
—
G—
©
c
~
N =]
Xp —_—




(ppm)

corr_us_dd _evMon7 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
pC'LSTY
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
JegAcing
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

_______________________________ ______4r
< 1 ™ 1. & ;o 0
™ N — o

(wdd) siny



1D pull distribution

+0.09565

—0.006584

Mean

4.218/4

0.7471+ 0.06764
14.82 + 2.59

Std Dev
Underflow
Overflow
X2 / ndf
Constant

+0.1175

0.004655 + 0.130522
0.8424

Mean
Sigma

22

0

.059

34.05/60 R
526 £ 7

2

X2 / ndf
0

p

(ppb)

corr_us_dd_evMon8

11 f+|T¢|+;|.L|+|T;|T+ 11

150

100
50

LIt il il
[=)

-5
-100




(ppm)

corr_us_dd _evMon8 RMS

I

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



3 =] ° ° © b 2 3
> 23 s b & 2
S =] 3 < S <
] S @ s = i
H H - + 0 -
8 3 S =
& © 3 ° ]
g = ]
=] n
> m 3 - € -1
o £ o <] s © —
c m c | T £ 2 m E i
o s B 5 S %« 8 2 & E
=
=}
m -
s I -1
- =
2 = —]
© 1 -
=
o
o n
i .
L L | | ' R A B BTSN BT B
© < N [=) © © < ~ [S)
— - — -
[ —————
——e——
O N
O N —_——
—~ N
O n
%+_ —_—
<t
o
0
o
|
Y—
°© —————
c
/0 — e
fomy (] T a—
Q> 9
Q| —_———
o
N—r
(@)
c
=
—i
S
e_
©
I
n
>
—
r_ —_—
S
o
o
111 | I I I I |
o o Q =) Q o
0 S e} n S
— — | .ﬂ.




(ppm)

corr_us_dd _evMon9 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

N~ © Lo < ™

(wdd) sny

N

| d
—



3 5 ° e 2 & 5 3
1] < > 4 = &
o Bl o8 g
% % — H +H +H -
) te} b N ] ]
: 4 L :
m. = ? ° -
= -
> m 3 € -1
o £ o <] s © —
cls &% 5 % ¢ 5 ¢ :
|l 8 5 & =« 8§ = & -
E=
3
e} \E
m I ]
[ ]
o p = — ]
= -
o
o i
- -
11 ! ! | ! M ARSI B RS SR | M B B
© ~N o © © < ~N o
— — —
I
o wn
O N~
-~
AN ™~
N 4| ————
N
o
N
©
Y—
©
c
)/0 —
o
o<
o
~
o
—
c
=
>
e_
— —
o
o ————
| — eo—
[72] — o1
] ——
_ — i
” —
(@] —
o —_— ]
—_——
—_—
—1
—_——1—
— o— 1
— e———
—_—
— l o
! \ 4
L
—




(ppm)

corr_us_dd _evMonl10 RMS

______
© To} <

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

© N ) ) r) < b=l
g 8 s 3§ 3
o 2 3 < o S
o e > h < ]
=] 9 = o +
+ = -
~ H M + ~
< S -1
o ~ « 3 < .
= 2 S r
o 3 I —]
S P S
S -
T -
H =
> S 2 “ = ]
7] € o k<] el © —
s a 5] = < 1] < £
g be] 2 < ~ 5 g S ]
= ) =} [¢] < o = n =
f ]
[ —
. -
PR TN N TN SN TR N T SN TN TN NN TN W TN WA AN O TR TN T AN O SR T 1
0 o n o Yo} o
N N — -

48.02 /60 R

X2 / ndf

(pPpb)

corr_us_dd_evMonl1l




(ppm)

corr_us_dd _evMonll RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
p ' ISTY
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

(wdd) sny



€ g ° ° = L 3 8
s S g % &8 3 ®
+H 5 @ O -
g g T8 o8 .
g 3 g £ -
8 o° 8 o —©
S 2 ]
- - .
c|l§ ¢ & § 2 z 5 E =
5
sl &8 5 & %« 8 = 3§
=
> —
b =
= ]
b= u
A7) C— do
© -
= _ =
=3 =K
o
- ¥
—¢
PRI T [ TR TR N N T TR S __________low
< N o @ < ~ ©
- - -
I
o N
o O
-~ ©
(@]
O + ———
wd.
™
[ee]
(o]
|
—_——
[
G—
©
e
~
N =]
—~| X}
o)
o
o
N
o
c
=
>
)
_
[%2)
=]
a
-
(@]
(&)
[
—_——
—_——
—
—

0'EVIY

15000
10000
5000 —=




(ppm)

corr_usl_evMon0 RMS

_____________________________ﬂ

__________
o o
® ©
n o

(wdd) sy

570 —

o o
Lo <
[Te] Lo

o
™
Lo

o
AN
o

o
—
Lo

o
o
Lo

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
[Aa=1474
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



§ ® o o ©o o @ o
5 £ s ¥ B g
4 g 8 9 g s
s 9 g « S g
€ ° a8 S 4 -
o @ H 2 M n
2 5 s 2 3
Mw @ O n
s 3 s ©° ]
? T ]
vmwfm -
» T & B 8 © —
c|l§ § &8 % £ &z §5 E
|2 & 5 &8 = 8 2 &
=
5 —
m -
5 [ ]
g2 | == =
© I -
= _ .
o —]
(@)
-
PR SR TN [N S TN TN NN TN T WO AT T S A W S | ' B
N o [oe] © < N o
— -
I
o o
-~ N~
0 —
o H——e—
< <
n
™
N
|
——
—_—————
Y—
©
c
~
NP =}
~><a
o)
Q.
o —_——
~
i
c ®
=
>
()
|
()]
=
r_ —
=
o
o
———
——
——
________________________.TTT_nI...T_nTTTT_____
o o o o ©o oOo o o o
o o o o o o o o
n o mnuw o n o
NN Hd A I - -




(ppm)

corr_usl_evMonl RMS

o o
[¢0)

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



corr_usl_evMon2 (ppb)

X2 / ndf

10000

32.52 /60
173.1+ 380.5

5000

5000

1D pull distribution

Mean  -0.001601+ 0.09348
18 r Std Dev 0.7301 + 0.0661
o Underflow 0
16
L Overflow 0
141 X2 I ndf 3.204/5
o Constant 17.24 £3.02
12~
[ Mean  -0.01176 +0.09912
10+ Sigma 0.7147 +0.0845
8 —
6 —
4
o
L L1l Ll 1 111 111 1 L1l Ll
ol | Loyl
-8 -6 -4 -2 0 2 4 6 8



(ppm)

corr_usl_evMon2 RMS

(wdd) sy

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
[Aa=1474
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



0

o t d
S 8 g ¢ 3 3
+ °© @ © H o>
~ + I o k3
2 A ~ 8 =
@ S] @ = =
s = ?
S . & sz _ =
@ = o 5 8 ©
m a () = c %] M £
c b3 T B e s g °
o = 4] =) o < () = n
=
=}
o)
5
(2]
g | -
=
o
o
i
I T | L | L
© < N =)
— - - i
[ —
o O —
O < —
~ 0 ]
~ AN —
g X -
4“ —
— ]
Lo —
| ]
— .
© —
c —
- —
N =] _
)Xp =
Qo —]
Q. —]
o —]
N -
™ —
et —
W -
> —
() —
I —
73} —
S —
| -
-
) —
© .




(ppm)

corr_usl_evMon3 RMS

ottt e

AN o
™

(wdd) sny

_________
© ©
N I3

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1500

1000

500

-500

1000

corr_usl_evMon4 (ppb)

—

X2 / ndf
p0

39.26 /60
—41.39 + 54.06

TT II| TTT IT—F+4—DT4—++4 |I

—

——

18

16

14

12

10

1D pull distribution

Mean  0.002691+ 0.1027

Std Dev  0.8022 + 0.07263

Underflow 0
Overflow 0
X2 / ndf 252715
Constant 15.33 £ 2.68

Mean -0.0208 £ 0.1117

Sigma 0.8178 + 0.1010

8 6 4

-2

0

2

4 6 8




(ppm)

corr_usl_evMon4 RMS

— T'65Tv
— 0'6STV
— T'85TV
— 0'8ST¥
— €'LGT¥
— ¢'LSTY
— T'LSTV
— 0°LST¥
— 7'9STY
— €961V
— 2'9GTV
— T'9STV
— 0'9GT¥
— €'SSTY
— 2'SSTY
— T'SSTV
— 0'SSTY
— v'vSTY
— VSTV
— VSTV
— TvSTv
— O'vSTY
— V'ESTY
— €'€STY
— C'ESTY
— T'esty
— 0'€STY
— G'¢STY
— v'¢STy
— €7¢STy
— ¢'¢STy
— T'¢STy
— 0°2¢STY
— V16TV
— €'1I6TY
— ¢'IGTY
— T'TSTV
— 0'ISTY
— 7'0ST¥
— €'0ST¥
— 2°0ST¥
— T'0STv
— 0051V
— €'6viv
— 2'6vIv
— T6VTv
— 0'6vIV
— €81y
— 28Iy
e 1414
— 0'8vIv
— ¢'Sviv
e 1414
— 0'SvIv
— EVYIY
— ¢y
— Tvviv
— Ovviv
— CEVIY

Teviv

L1 _H oeriy
(@]
N

o Lo
n <

(wdd) sny



g § ° ° © 8§ g 8
ET- S 2 8 8
S8 2 g o
s g > 4 & 3
Ho° B + -
- + 2 g m
g B T g8 8 :
s 2 g ° —
s ° .
vm 3 € -1
» T & B 8 © —
c|ls ¢ & ¥ £ z § ¢E -
sl 8 5 & %« 8§ = @ =
E=
3
3 e
= -
= -
o [ —_— .
© — L -
=)
o
o =
- -
=
I R | ! PR TR T W N SO M T | Ly 7
o [Tel o n o o o
o™ N N — —
I
o m
O
-~ 0
o <
ﬂ+_
el
AN
0
<
|
Y—
©
c
~
NP =}
—| =< 2l
o)
Q.
o —_——
~
o
c
=
>
()
I_ —_——
(2]
u_
—_——
= ——
o
o
—
—o——
———
_________ ___________________
o o o o o o
o [Te) [Te) o Y3} (=]
e = R




(ppm)

corr_usl_evMon5 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
pC'LSTY
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
4 T°0STY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

________
©

(wdd) sny



1D pull distribution

+0.1043

0.001053

Mean

0.8146 + 0.07375

Std Dev

Underflow

Overflow

3.618/6
+2.84

15.07
-0.03767 +0.11183

X2 / ndf
Constant
Mean

0.8143 +0.1141

Sigma

0

\

©
-

< N
- -

40.47 160 R

5.721

X2 / ndf

+ 8.606

p0

(ppb)

corr_usl_evMon6

nliphndnhmoevTy
B g aan oo
AN —+H O ﬂ_v 1__

250
200
150
100
5



(ppm)

corr_usl_evMon6 RMS

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



n ~ o o © o~ (=2} o
— =] Py < —
bl S o +H ) I=3
o 3 I ) S i .
H =] L ™ + P
© + o 3 - Q a
© «® o o -
I < S 3
g 3 S -
s 3 s m
° . 3 =z _ =
@ < o 5 8 ©
= a [} k= c 17} c £
c § = B - s & 5
ol & 5 & %x 8§ = &
2 =
5 =
2 f
= ]
s ]
k%] ]
ho) -
= ]
2 .
o
-
L | L L vl b by by by oy T
< o C3 © < ~ °
- -
I r~ — =
B T — — g
[@Xeo) ——1— — i
© — ——— — §
— —te——— — g
—o——— — i
m +1 —_,— — -
N —_— — -1
o X ——— — E
< (@] —————— — .
— —leo— — -
n —_—— — -
™ —— — §
—l—— —] ]
———— | i
— — -
—_—— — g
5 e ] ]
— —_ -
c —e—L — i
~ — — -1
~n O —_— e — — i
—~| < ——— — i
o — o —— — i
o — — .
o — e +—— ] ]
~ —_—————— — .
N~ ——— e e g
c —_————— g
o — — -
— — — 4
M — — -
= L — — -
[} — o | ] J
I_ —— — -
%) ———— — -
S —_—— — g
| ——1— — -
f- ——— —
= —
— — — d
5 . . -
—_— — -
—_———— — g
——— — i
—_— — -
— —1 — i
— | — - 1
——— — -
I T — — g
— — -
— o— L — 4
—_——t—— — g
oo ______________I_._:_@__E bk
8 8 8 8 8 ° 8 8 8 8 N~ogq

0'EVIY



(ppm)

corr_usl_evMon7 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
p VIV
Teviv
oeriv

______
N

________________________________
©O ©® © < N O 0 © <
N N 94 A 4 < 4

(wdd) sny

N



1D pull distribution

0'...|...|...|Jj..|.kL...|...|...

10.89/60 H

X2 / ndf

(ppb)

corr_usl_evMon8

g 0 ) ) ™ ~ < ~
3 & 2 S = @
8 3 o w3 &
S S S H 9 S
+ © ~N 8 o +
0 + > + @
Ire} ) 8 1) Q
Y & R ]
g g 3 &
g 3 s °
° ¢
H =
3 m m k<] m ©
s a 5] = < 1] s £
3 = E 2 3 5 31 =)
= 2} =} o > (8] = 2]
——
! [ W SN SN A T TR TR T [N TN TN T W |
[Te} o [Te} o
N N - -
ol
\ g
(9]
o
o
— Y
\ 4
+ .
—_——
(o)) ®
o™ ®
i
N d
- —
o °
Py
@
®
\ 4
——
Py
\ 4
o ®
o _——
Py
@
®
\ g
— o+
O
Py
L4
®
\ 4
Py
@
®
\ 4
Py
\ 4
®
\
®
4
— e
1@
®
@
Py
\ 4
—_——
Py
\ 4
H
Py
\ g
Py
\ 4
®
\ 4
—
Py
A
Py
@
—_——
®
L1 __TTT_ITTTTTTTTTITTI ______________

o
[T}
—

o
o
—

o o
Yol

(=} o
5 0
_ 1
_

o

Y3}

—
]




(ppm)

corr_usl_evMon8 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
1194
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

(e} [ee] N~ © Lo <

(wdd) sny

(e0]

N

I
—



corr_usl_evMon9

0 @ o o I 0 ~ o
< 1] < @ %) 2
by ] 2 ~ X 8
g 8 g # 5 3 ©
S = 2 ~ s % i
+ + M + - n
N ] ® 2 8 i
S g S 3
g S g ° ¢
? © ]
: 2 3 s & ]
< a 54 T E 3 s g <
< § = ® ¢ S~ § §&§ 5 g
(o) = 7] =} 6 %< © = (7] -1
= .
3 3
= I
@ s —————— — o
© -
= 0
2 o
(@) n
i .
________________________________lom
o [Te) o [Te] o [Te} o
[32) ~N N — —
I
o m
O O
~ N~
2
oo H
sy AN
91
o
™
|
Y—
©
c
~
NP =}
—~| X}
Qo
Q.
o
~




(ppm)

corr_usl_evMon9 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
p CcSTY
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

[c@] N~

(wdd) sny

(e0]

N

|
—



 ® o ©o o o o <

g 8 s 5 g g

& 2 § # & 3

S 2 w5 2 4 E
HoooH s M o n
g 8 53

5 K : 8 3
B E e E
IS T -
T

vmw € -1
» T & B 8 © —
clg ¢ 8 3 2 & g5 ¢E ]
|2 & 5 &8 = 8 2 & g
2 E
2 —
= Z
s _
ho) -
= D
a =
o ]
= 3
vl b by ] ] .
o n o 1o} o o
o N N — —

I

o m

[(e N ]

-

—

M+_

- M

o

Te}

N~

—

©

e

~
a2
o<
Q.
o
N
o
—
c
3
>
()]
_
0
>
r_
-
(@]
o

— ——
—_—————
—_——

-100

-200




(ppm)

corr_usl_evMonl10 RMS

el L gl

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



g g ° ° ° 3 5 8
s ¥ g 9 8 3
H O mMQi -
“Hi L+_7 a
8 R S 3 03 n
3 8 g 9
S s ° -]
? 3
vmw € -1
» T & B 8 © —
cls & & 3 2 ¢ § & ]
|2 & 5 & « 8§ 2 & E
= a
5 —
2 —
5 =
° t ]
E sk
o —]
(@) n
i .
1 P I T W I T | M B
[Te) o Lo o o 0 o
(32} © N 3% -
[
o
©
-~ O
o
™~ +
n
— e
— <
(ee]
Lo
—
©
c
~
A%2
=<9 . -
Q.
o
~
—
— —_———
c
=
>
()
_
(2]
=)
r_
=
o
o
——
—
11
o o o o
o o o o
8 3 = §




(ppm)

corr_usl_evMonll RMS

N~ © Lo < ™ N

(wdd) sny

| L5
—

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

—0.008294 + 0.1285

Mean

+ 0.09085

1.003

Std Dev

Underflow

377417

135+ 24

-0.003703 £ 0.152586
0.9342 + 0.1276

Overflow
X2 I ndf
Constant
Mean
Sigma

61.43/60 R

X2 / ndf

557.4

858.9

0

+

p

(ppb)

corr_usr_evMon0




(ppm)

corr_usr_evMon0 RMS

___________
o 10
©
< <

(wdd) sy

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
[Aa=1474
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



ssooesso
8 8 s & B 4
s 8 g8 +# S 2
as T8 s g ]
: g 58 8 ;
8 =4 ? -
S 3
2 P
> 8 2 - g 7
cls 8 % § B E 5 ¢
% &8 5 & =« & & 8B
8 4
= —]
b =
2 .
= .
0 —]
ho) -
= .
a ]
o
-
L1 . ] . 1 .
< N o [ee) < o
- - -
I —_—— —F- - e
— —
o ——— —
© O — -+
- —— —
———— —
© — —£.
O Hl — o—— -t
——i —-
8 P 3
. —— L.
IV PR —+
N~ —_— -
| —le—— —
—_—— —
L ——— —t-
——— —.
= —— —-
2 e -
— — —t.
~ — i —
NP =} ———— —
m < Q] — o1 _1
———— —_
Q. ————— — -
o ——— — -
~ - o——— i
- -
= 1
@) T
> _
> —
r_ I
5 I
= -
r_ <
S )
o T
o T
Ll N S—— il
3 3 8 e 3 3 IS [
o o o o o o



(ppm)

corr_usr_evMonl RMS

o
o (2}
i

(wdd) sy

180

170

o
©
—

o
Lo
-

o
<
i

o
™
-

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

+0.08857

—-0.00148

Mean

+0.06263

0.6918

Std Dev

Underflow

Overflow

3.535/4

X2 / ndf

19.45 +3.31

Constant

0.03175 + 0.09432

Mean

+0.071

0.632

Sigma

29.19/60 hH

138

X2 / ndf

9

+ 325.

p0

(ppb)

corr_usr_evMon2




(ppm)

corr_usr_evMon2 RMS

(wdd) sy

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
[Aa=1474
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



08/0

+0.01762

1.229
46.77 +90.90

0.1376 + 0.01246
0.2888 + 0.5990

0.03604 +0.17179

-0.0009731

Mean

Std Dev
Underflow
Overflow
X2 / ndf
Constant
Mean
Sigma

1D pull distribution

35

62

+19

1.155/60 h

891

3

X2 / ndf
0

p

(ppb)

corr_usr_evMon3

-100

TN ToTNm:
3000 Poos



(ppm)

corr_usr_evMon3 RMS

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

+0.07701

0.6015 + 0.05445
3513/3

20.62 +3.29
0.02154 + 0.08099
0.5966 + 0.0566

0.0007083

Std Dev
Underflow
Overflow
X2 / ndf
Constant

Mean
Mean
Sigma

ﬁ

N o [ee] © < N o © © < N
~N N - — — - —

0_||||||||||

22.07 /160 R
11+76.11

—49

X2 / ndf
0

p

(ppb)

corr_usr_evMon4

__T_ITTTT_MITTT_II__ IR __._||

o

1500
1000
500
-500
1000
1500



(ppm)

corr_usr_evMon4 RMS

o
o

(wdd) sny

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

g 5 o o n  wu o
§ 0z S 5 B
~ ®© © g g
o Q9 5 +H o 5
> 8 5 =
s 3 2 = o % ]
+ H b I
~ X o -1
5§ 8 & 2 8 ]
§ R 508
4 ®» n S —
o o o
=3 S i
mu T -
H =
> &8 & . E ]
*x T £ T 8 © —
mDeﬁnMMm
e..mﬂnuwa_/oe.@
= » S5 o % o = n -
_— d =]
. u
PP RN M I
o n o o
™ N N

20.05/60 h

X2 / ndf

.209

+4

1499

0

pO

(ppb)

corr_usr_evMon5




(ppm)

corr_usr_evMon5 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
pC'LSTY
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
p C'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

~ ©

(wdd) sny

o

<

(e0]

AN
o i



1D pull distribution

(ppb)

corr_usr_evMon6

S =S 2 M z ]
W S ht © S
W s S s
N o« s H 8
3§ 8 & g
3 = 8 <
g S & S
g g
T 8
s
2 -
3 £ 3 s 5 P
< a S = < 7 < g
3 z B g < 5 g 3
= 7 =1 ¢} < o = @
PR [T T TR S AN SR TR SR TN (NN SO TN S SR N S S
n o n o
N N - —
_ - S— Z
o O — 1l o— —
© © . -
- —_————— —
oA .
— —
Nm -
L0 ° —
— L —
i - .
<t hd
e —
_ . .
. .
M
9 —
- °
— e —
RS . .
c . .
= " .
~n O P 1
< Q| — oI -
< .
*
—1 . —
< .
*
— —
- .
*
. .
*
'y —
°
P .
Py
A .
' —
°
. .
°
o .
.
e —
*
- .
P
— T —
P ]
°
< .
*
o .
°
—leo— -
o .
°
‘ —
—1 o -
- .
°
- —
°
< .
°
- .
°
@ —
*
' —
°
—l—— —
@ —
*
' —
°
-~ .
°
—_—— —
Y —
o
RTH TN Fy re v A ) IR T
o o o o o o o o o
o o o o o o o o
g 8 | =S S 8 8 ¥



(ppm)

corr_usr_evMon6 RMS

I mhm
NN NN EN AN RN NENN!

_________________I

™ N A, o o
— — — —

(wdd) sny

[oe]

N~

©

Te}

<

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv



1D pull distribution

+0.1076
+0.07606
3.016/5

14.22 +2.43

0.003508
0.8401

Mean

Std Dev
Underflow
Overflow
X2 / ndf
Constant

0.008575 + 0.135249

Mean

0.8798 +0.1070

Sigma

%

J

6
4
2
OIII

X2 / ndf

43.05/60 R
+ 16.3

6.091

pO

(ppb)

corr_usr_evMon7

-100

o
[=}
N

-300

o
o
¥



(ppm)

corr_usr_evMon7 RMS

___________________________________ [+

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
pEVIIY
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

[ce] (] < N o [ce) (] < N
— — — — —

(wdd) sny



7sooesgs
g & = 8 g8 &
s 8 5 % 3
+ b - 3 H - -1
o & 8 7
R B .
g S ° ]
< 3
z -
3 € 3 s &
clsg § 8 3 £ ¢
|l & 5 &8 = 8
2 "
5 —
b =
2 ]
b= _
0 ]
ho) -
= _
a ]
o
=
MR IV PR SN BRI SR S R B
© < ~N o [ee] (] < N o
- - - -
I
[@Xe)]
[(e)Ne)]
~
Ln O
M+_
o D
™
Q
<
|
—
©
e
~
N =]
—~| < Q]
o)
o
o
N—r
0]
c
o ————
>
(O]
a
[%2)
=]
a
S
o
(&)




(ppm)

corr_usr_evMon8 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
Joksigng
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

(wdd) sny



1D pull distribution

@ 0 ) ) ~ < o ©

g & S % 8§ 8§

S 3 3 N bl =

IS} S < i (=] (=]

H H Q + + —

1) ] P T @ -
3 ©

3 3 = 2 @ .

3 > S 3

S c ¢ o —

2 -

T -

H =

> S 2 “ = ]
7] € o k<] el © —

s a 5] = < ] s £

3 3 2 2 3 5 3 =)

= 2} =} o > (8] = 2]

v e by by by Ly Ly s Ly L
© © < N o
— — — -
—

54.4 /60 R
+ 7.625

—2.004

|

X2 / ndf
p

(ppb)

corr_usr_evMon9

O o o 0 O
o 0 o Lo
N - —




(ppm)

corr_usr_evMon9 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
14474
[oh<14074
124414
4244
Tyviv
(R 24774
CEVTY
Teviv
oeriv

(wdd) sny



g 8 ° ° © 3 = &
S 8 z < & 8
< 2 3 H = s
+ o & o o T I
o H > + P
@ ~ 9 < o 7]
s 5 i g .
e 2 s o —
s ° E ]
> m 3 € -1
o £ o <] s © —
c m w 3 % £ 2 m E i
o s B 5 S %« 8 2 &
=}
=
b -
2 ]
s ]
2 e —
© -
m -
o
a
— .
PR R A B R A | L
[ee] © < N o
— — i i
I ——
o ©
© ~
)
0 ©
o + ——
[ J
—
o
Io )
—_————
<
_
—_——
—
o
c
~ ——
\)20
S>=< 2
o1
a
~ —_—
o
=
c
S
S
)
a
o
S
i
S
o
o e
—_——
—_———
ol DBl b b
o o o o o o o o
wn o n n o n o
- = _ A AN



(ppm)

corr_usr_evMonl0 RMS

1651y
0'6STY
T'8STY
081y
€'.S1Y
'Sy
T'LSTY
08TV
4°E114
€951y
2'9STY
T'9GTY
0'9STY
€951y
2'SSTY
T'GSTY
0'sSTy
42114
2104
[A%:114
Tvsiv
0'vSiv
v'esty
€eSty
C'ESTY
Testy
0'esty
S¢Sty
vesiy
€¢sty
¢'esty
Testiy
0¢sTy
ar114
€ISy
¢Sy
T191Y
0'TSTY
41074
€0STY
20STY
T0sTY
0'0STY
g6riv
26viy
Teviv
0'6viv
£8riv
4144
T8viv
0'8riv
41444
Tsriv
[oh<14074
124414
4244
Tyviv
Joh44nd
CEVTY
Teviv
oeriv

[c@] N~ ©o Lo < ™

(wdd) sny

il
—



s o & H 4 o
+ + « g ° o+
g 9 B
3 g
wmmmm
cls ¢ & 5 2 ¢
sl &8 5 & % 8
E=
3
e}
s
R [
©
=)
o
o
-
MR TRNEE T B AR AR
N o ©o ©
N N = -
I
o o H
O N~
N < —e-
O +l ——
S ofe— *
i
O —(
< ——
© —
——
_ ——
——
——
Y—
©
c
~
NP =}
al><2
[oX ®
o
~
3 .
c
o
M —
>
()
r_
(2]
S
r_ ——
=
o
o
——
——
——
——
——
——
———
1111 ] 1111 _
o o o o
o o o o
S8 e = §




(ppm)

corr_usr_evMonll RMS

—J 65T
—{ o'6sTY
—{ 851y
— 0'8sT¥
—| e51v
—{ z8Tv
—{ sty
— ozs1¥
—{ v'osTy
—| €951
—{ zosty
—{ 1951
—|{ 0951
— €5ty
—|{ z'ssty
—{ sty
— 0'ssTy
—| vvsty
— evsTy
— Tvsty
—{Tvsty
—{ oSty
—| vesty
—| eesty
— zesty
—{resty
—| oesty
—| szsty
—|{ vesty
—| ezsty
— zzsty
—{testy
— ozsty
—{ v'15T¥
—| e'1517
—{ z'18TY
e 112
015TY
—{ v'osTy
—| €'0sT¥
—|{ zosty
—{ o5ty
—|{ o'0sT¥
— e6vTy
—{ zevTy
T6vTY
— o'6vTy
—| e8vTy
— zevTy
—{T8riy
— o8v1y
— zsvTy
—{ vty
—{ o'sv1y
— vy
— vty
—{ vy
0vrTy
zErTy
I T T oo

NEEEEE NN RN NREN [ 11144 0erty
» [c@) N~ © Lo < ™ [§\

1

(wdd) sny



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115
	Page 116
	Page 117
	Page 118
	Page 119
	Page 120
	Page 121
	Page 122
	Page 123
	Page 124
	Page 125
	Page 126
	Page 127
	Page 128
	Page 129
	Page 130
	Page 131
	Page 132
	Page 133
	Page 134
	Page 135
	Page 136
	Page 137
	Page 138
	Page 139
	Page 140
	Page 141
	Page 142
	Page 143
	Page 144
	Page 145
	Page 146
	Page 147
	Page 148
	Page 149
	Page 150
	Page 151
	Page 152
	Page 153
	Page 154


